
ϯϴ

'$)7$5�3867$.$

$GLOLD��0�)LULDQD�(�+���-DODO�6����������,PSOHPHQWDVL�3URJUDP�$GLZL\DWD�GL�
6HNRODK��6WXGL�3HULODNX�6LVZD�3HGXOL�/LQJNXQJDQ�.HODV�,9�GL�837�6'1���
$QWDQJ�.RWD�0DNDVVDU��.DSSD�-RXUQDO���������������

$SULOLD�5L]NL�,PSOHPHQWDVL�3HQGLGLNDQ�.DUDNWHU�3HGXOL�/LQJNXQJDQ�6LVZD�GL�6'�
%DNDODQ�.HFDPDWDQ�6HZRQ�.DEXSDWHQ�%DQWXO� 8QLYHUVLWDV 1HJHUL�
<RJ\DNDUWD�������

$UG\DQWR�� 5L\DQ�� ,PSOHPHQWDVL� 3URJUDP� $GLZL\DWD� 7HUKDGDS� 6LNDS� 3HGXOL�

/LQJNXQJDQ�6LVZD�SDGD�/LQJNXQJDQ�GL�60$�1HJHUL���%XQGDU�.DEXSDWHQ�

%DWDQJ� 8QLYHUVLWDV�1HJHUL�6HPDUDQJ�������

'LQDV�3HQGLGLNDQ�.DEXSDWHQ�7DQD�7RUDMD� /DSRUDQ�3HQFDSDLDQ�6HNRODK�$GLZL\DWD�

.DEXSDWHQ�7DQD�7RUDMD��7DQD�7RUDMD� 'LQDV�3HQGLGLNDQ�7DQD�7RUDMD�������

+DULV��(QGDQJ��6HNRODK�$GLZL\DWD� ��3DQGXDQ� ,SOHPHQWDVL�$GLZL\DWD�0DQGLUL� GL�

6HNRODK� -DNDUWD��(UODQJJD������

+LGD\DWXOODK��³,PSOHPHQWDVL�3URJUDP�$GLZL\DWD�GL�6'�,VODP�$O� $]KDU����%6%�

6HPDUDQJ�´�6NULSVL��6HPDUDQJ��8,1�:DOLVRQJR������

-�0HOHRQJ��/H[\��0HWRGRORJL�3HQHOLWLDQ�.XDOLWDWLI��%DQGXQJ��37��5HPDMD�5RVGD�

.DU\D������

.HPHQWHULDQ� /LQJNXQJDQ� +LGXS� GDQ� .HKXWDQDQ�� 3DQGXDQ� 3URJUDP� $GLZL\DWD��

-DNDUWD� .HPHQWHULDQ�/LQJNXQJDQ�+LGXS�GDQ�.HKXWDQDQ������

.RPSUL��0DQDMHPHQ�6HNRODK� %DQGXQJ��$OIDEHWD������

/HPEDJD� 3HQHOLWLDQ� 8QLYHUVLWDV� 1HJHUL� 6XUDED\D�� 'DVDU�'DVDU� 3QHGLGLNDQ�

/LQJNXQJDQ�+LGXS� 6XUDED\D��.HUMDVDPD�$QWDUD�%DGDQ�/LQJNXQJDQ�+LGXS�

-DZD�7LPXU�GDQ�8QLYHUVLWDV�1HJHUL�6XUDED\D������

/LVW\DUL�� 5HWQR�� 3HQGLGLNDQ� .DUDNWHU� GDODP� 0HWRGH� $NWLI�� .UHDWLI	� ,QRYDWLI�

-DNDUWD��(UODQJJD�������



ϯϵ

0DKPXG��0HWRGH�3HQHOLWLDQ�3HQGLGLNDQ� %DQGXQJ��&9�3XVWDND�6HWLD�������

0DQDE��$EGXO� 3HQHOLWLDQ�3HQGLGLNDQ� <RJ\DNDUWD��.DOLPHGLD�������

0RKDPPDG�'HQG\�)DWXUDKPDQ�%DKUXGLQ��3HODNVDQDDQ�3URJUDP�$GLZL\DWD�'DODP�

0HQGXNXQJ�3HPEHQWXNDQ�.DUDNWHU�3HGXOL�/LQJNXQJDQ�GL�60$�1HJHUL���

3DQGHJHODQJ�� -XUQDO� 3HQGLGLNDQ� *HRJUDIL� �RQOLQH��� 1R�� �� 7DKXQ� ������

�KWWS���HMRXUQDO�XSL�HGX�LQGH[�SKS�JHD�DUWLFOH�YLHZ)LOH���������� �GLDNVHV�

���2NWREHU������

0XKDLPLQ�$]]HW��$NKPDW��8UJHQVL�3HQGLGLNDQ�.DUDNWHU�GL�,QGRQHVLD�<RJ\DNDUWD��

$U�5X]]�0HGLD������

6XJL\RQR��0HWRGH�3HQHOOLWLDQ�.XDQWLWDWLI��.XDOLWDWLI�GDQ�5	'� FHW�����%DQGXQJ��

$OIDEHWD�������

6XU\RVXEURWR��0DQDMHPHQ�3HQGLGLNDQ�GL�6HNRODK�� -DNDUWD��5LQHND�&LSWD�������

6XU\DQL�7�� 3HQGLGLNDQ� /LQJNXQJDQ� GDQ� 3HPEHQWXNDQ� .DUDNWHU� 6LVZD�� -DNDUWD��

-XUQDO�3HQGLGLNDQ�/LQJNXQJDQ�������

6X\DGL�� 6WUDWHJL� 3HPEHODMDUDQ� 3HQGLGLNDQ� .DUDNWHU� %DQGXQJ�� 37�� 5HPDMD�

5RVGDNDU\D������

7LP� $GLZL\DWD� 7LQJNDW� 1DVLRQDO�� 3DQGXDQ� $GLZL\DWD� 6HNRODK� 3HGXOL� GDQ�

%HUEXGD\D�/LQJNXQJDQ��-DNDUWD��.HPHQWHUHULDQ�/LQJNXQJDQ�+LGXS�GHQJDQ�

.HPHQWHULDQ�3HQGLGLNDQ GDQ�.HEXGD\DDQ�������

7ULKDWL��0HOLD�5LPDGDQL��³,PSOHPHQWDVLL�3HQGLGLNDQ�.DUDNWHU�3HGXOL�/LQJNXQJDQ�

GL�6'�1HJHUL�7ULWK�:HWDQ����´�6NLSVL��<RJ\DNDUWD��81�<RJ\DNDUWD�������

8OIDWLQ��1XUXO��0HWRGH�3HQHOLWLDQ�.XDOLWDWLI�GL�%LGDQJ�3HQGLGLNDQ��0DODQJ��0HGLD�

1XVD�&UHDWLI�������


